NOTICE TO CONTRACTOR
All construction must comply with current NC Building Codes

and is subject to field inspection and verification.

Reviewed for Code
Compliance

08/24/2023

30'-3"

SECTION

SCALE: 3/4" = 1'-0"

C.J. ON PLANS INDICATE CONTROL JOINT 1/8" x 1" DEEP SAWN WITHIN 24 HOURS

SECT'ON m * AFTER PLACING CONCRETE. METAL JOINT MATERIAL MAY BE USED.

SOALE: 3/4" = 1—0" 5. FOUNDATION BASED ON REACTIONS FURNISHED BY ARCO BUILDING SYSTEMS,
/4" = 1= S-1 DRAWING NO. 22-43050, DATED 11/07/2022.

150'=-3" .
r.(:)’_1 1/2" OUT/OUT OF SLAB 0'-1 1/2"
S—-1
¥ I I I I I I I ¥
T | | | | | | | N
| | | | | | |
S | S
o D )
i [ [ [ [ [ [ [ R
o ‘ o
1
| | | | | | |
W 4" CONCRETE S ON GRADE W/ ol
o L _Sd 4 _ _ _ _ _ _ — ___ 6x6xW1.4xW1,4 WW.F. AND 4 _ _ _ _ _ _ _ _ _ _ I _ _ ] '? o
6 MIL. POLY. VAPOR BARRIER °
3 1 "3
A\
E S—-1 I I I I I I I E
(o) o)
~ w~
} | | | | | | | }
@ 3 3 3 3 3| 3 3 S 3 3 @
(=) | | | | | | | ©
\¢ I I I I I I I }/
&
0'-1 1/2 150'—3" 0-1 1/2
OUT/OUT OF SLAB
SCALE: 1/8” = 1'-0"
N » ~
L 1-1/2 S e-1/2
| T |
I | I | GENERAL NOTES
AN J - — N1 ﬁ — g
GRADE ) , <7 4? b GRADE p , <7 A‘? b 1. CONTRACTOR SHALL BE RESPONSIBLE FOR BRACING ALL WORK DURING CONSTRUCTION.
’a|> | %_ Sl ! ‘f I %_ |:m:g ! 2. FOOTINGS ARE DESIGNED FOR AN ALLOWABLE BEARING CAPACITY OF 2000 P.S.F.
- R o '_II:_ < R 'Y . m:— <
- "? 4 l”" 2 - "? 4 l”" a? 3. CONCRETE SHALL HAVE A MINIMUM 28 DAY COMPRESSIVE STRENGTH OF 3000 P.S.l.
| = o o° 2 - f4 | = o o° 2 - #4 WITH A 4" MAXIMUM SLUMP. DETAILS NOT SHOWN SHALL BE ACCORDING TO
. 7 3 oL . 7 3 oL ACI_318 AND ACl 301 SPECIFICATIONS FOR CONCRETE CONSTRUCTION.
— REINFORCING STEEL SHALL BE ASTM A-615 GRADE 60 (TIES MAY BE GRADE 40)
— W.W.F. SHALL BE ASTM A-185
— MINIMUM LAP: 4 — 28"
] ” » [} (] ”» 5 - 32”
1-0 | 6 1-0 |6 — MINIMUM COVER: 3" U.N.O.

Harnett

COUNTY

C.H. MOSS, P.E.

P.O. BOX 28

SOLE PROPRIETOR
COVINGTON, GA 30015
PH: (770) 786-3163

BY

REVISION

22-43050 | [NO|DATE

COMPUTED BY:

DRAWN BY

3
3

JOB NO.

HM

AUGUST 22, 2023
1/8" = 1'-0"

CHECKED BY

SCALE:

DATE

KENNETH SIECINSKI

FOUNDATION PLAN FOR

SANFORD, NC

3

SHEET

DRAWING NUMBER

3

OF':

S—1

1



AutoCAD SHX Text
08/22/2023

AutoCAD SHX Text
SHEET    OF:

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
COMPUTED BY:

AutoCAD SHX Text
CHECKED BY:

AutoCAD SHX Text
DRAWN BY:

AutoCAD SHX Text
JOB NO. 

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
DATE

AutoCAD SHX Text
NO 

AutoCAD SHX Text
BY

AutoCAD SHX Text
REVISION

AutoCAD SHX Text
3132

AutoCAD SHX Text
S-1

AutoCAD SHX Text
1

AutoCAD SHX Text
LH

AutoCAD SHX Text
HM

AutoCAD SHX Text
1/8" = 1'-0"

AutoCAD SHX Text
AUGUST 22, 2O23

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
S-1

AutoCAD SHX Text
3" CL.

AutoCAD SHX Text
SCALE: 3/4" = 1'-0"

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
2

AutoCAD SHX Text
MIN.

AutoCAD SHX Text
GRADE

AutoCAD SHX Text
2 - #4

AutoCAD SHX Text
%%uGENERAL NOTES

AutoCAD SHX Text
4.  C.J. ON PLANS INDICATE CONTROL JOINT 1/8" x 1" DEEP SAWN WITHIN 24 HOURS

AutoCAD SHX Text
    AFTER PLACING CONCRETE.  METAL JOINT MATERIAL MAY BE USED.

AutoCAD SHX Text
1.  CONTRACTOR SHALL BE RESPONSIBLE FOR BRACING ALL WORK DURING CONSTRUCTION.

AutoCAD SHX Text
2.  FOOTINGS ARE DESIGNED FOR AN ALLOWABLE BEARING CAPACITY OF 2000 P.S.F.

AutoCAD SHX Text
3.  CONCRETE SHALL HAVE A MINIMUM 28 DAY COMPRESSIVE STRENGTH OF 3000 P.S.I.

AutoCAD SHX Text
    WITH A 4" MAXIMUM SLUMP.  DETAILS NOT SHOWN SHALL BE ACCORDING TO 

AutoCAD SHX Text
    ACI 318 AND ACI 301 SPECIFICATIONS FOR CONCRETE CONSTRUCTION.

AutoCAD SHX Text
    - REINFORCING STEEL SHALL BE ASTM A-615 GRADE 60 (TIES MAY BE GRADE 40)

AutoCAD SHX Text
5. FOUNDATION BASED ON REACTIONS FURNISHED BY ARCO BUILDING SYSTEMS, 

AutoCAD SHX Text
                     #5 - 32"

AutoCAD SHX Text
    - W.W.F. SHALL BE ASTM A-185

AutoCAD SHX Text
    - MINIMUM LAP:    #4 - 28"

AutoCAD SHX Text
    - MINIMUM COVER:  3" U.N.O.

AutoCAD SHX Text
DRAWING NO. 22-43050, DATED 11/07/2022.

AutoCAD SHX Text
22-43050

AutoCAD SHX Text
FOUNDATION PLAN FOR:

AutoCAD SHX Text
SANFORD, NC

AutoCAD SHX Text
KENNETH SIECINSKI

AutoCAD SHX Text
SEAL

AutoCAD SHX Text
11066

AutoCAD SHX Text
S-1

AutoCAD SHX Text
3" CL.

AutoCAD SHX Text
SCALE: 3/4" = 1'-0"

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
1

AutoCAD SHX Text
MIN.

AutoCAD SHX Text
GRADE

AutoCAD SHX Text
2 - #4

AutoCAD SHX Text
%%UFOUNDATION PLAN

AutoCAD SHX Text
SCALE: 1/8" = 1'-0"

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
S-1

AutoCAD SHX Text
2

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
1

AutoCAD SHX Text
S-1

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
OUT/OUT OF SLAB

AutoCAD SHX Text
1

AutoCAD SHX Text
S-1

AutoCAD SHX Text
S-1

AutoCAD SHX Text
2

AutoCAD SHX Text
4" CONCRETE SLAB ON GRADE W/

AutoCAD SHX Text
6x6xW1.4xW1.4 W.W.F. AND

AutoCAD SHX Text
6 MIL. POLY. VAPOR BARRIER

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

AutoCAD SHX Text
C.J.

bsutton
Stamp


1/7/22

DATE

AJ

B

BY

BUILDER / CONTRACTOR IS RESPONSIBLE FOR ENSURING THAT PLANS AND SPECIFICATIONS COMPLY WITH BUILDING MANUFACTURER ASSUMES NO RESPONSIBILITY FOR ANY LOADS TO STRUCTURE NOT INDICATED FIELD CUTTING OF STRUCTURAL, SHEETING AND TRIMS FOR SPLICE AND FINAL FITTING OF COMPONENTS 1 |[LEAD SHEET, GENERAL NOTES, SCHEDULES, KEY PLAN
APPLICABLE REQUIREMENTS OF ANY GOVERNING BUILDING AUTHORITY. AT THE TIME OF PURCHASE. ANY ALTERATIONS TO THE STRUCTURAL SYSTEM, REMOVAL OF ANY IS REQUIRED. 2 |SLAB PLAN, ELEVATIONS
COMPONENT PARTS OR THE ADDITION OF OTHER CONSTRUCTION MATERIALS OR LOADS MUST BE DONE 3 |[FLOOR PLAN, FRAMING PLAN
METAL BUILDING STRUCTURE DESIGNED PER THE FOLLOWING LOADING: UNDER THE DIRECTION OF REGISTERED ARCHITECT, CIVIL OR STRUCTURAL ENGINEER. ALL ROOF PANEL LAPS SHALL BE SEALED WITH 3/8” (MINIMUM) WIDTH MASTIC TAPE AS PROVIDED FOR 4 |PARTITION PLAN. ROOF PLAN
PROJECT. ALL SHEET PROFILE FOAM CLOSURES AT EAVE, WALL AND RIDGE CONDITIONS AS PROVIDED :
CODE: IBC 2018 ALL CONCRETE AND MASONRY CONSTRUCTION MUST BE FLAT, LEVEL AND SQUARE PER THE SLAB PLAN FOR PROJECT MUST BE INSTALLED AS SHOWN HEREIN. S5 [DETAILS
WIND: 105 MPH EXPOSURE C WINDLOAD DIMENSIONS HEREIN.
ROOF LIVE LOAD: 20 PSF ROOF LIVE LOAD . 6 |DETAILS
- WALL PANELS AND WALL TRIMS, AT INTERIOR AND EXTERIOR, ARE TO BE SET WITH 1/4” CLEARANCE > TDETAILS
SEISMIC DESIGN CATEGORY (SDC): C / SEISMIC COEFFICIENT: 0.32 ALL JOBSITE DIMENSIONS AND CONDITIONS SHALL BE FIELD VERIFIED BEFORE ERECTION OF BUILDING ABOVE CONCRETE SURFACES AND AT ANY LOCATIONS WHICH MAY BE SUBJECTED TO CONTACT WITH
GROUND SNOW LOAD: 10 PSF (MAX) GROUND SNOW LOAD STRUCTURE. STANDING WATER. 8 |DETAILS
ROOF SNOW LOAD: 8.4 PSF (MAX) ROOF SNOW LOAD
COLLATERAL LOAD: 0.5 PSF (MAX) COLLATERAL LOAD ALL OMISSIONS, CONFLICTS AND DISCREPANCIES SHALL BE REPORTED TO THE BUILDING MANUFACTURER »
: 0. (MAX) ALL OMISSIONS, SONFLICTS ZND DISCREPA LAP ALL FLASHINGS 2” MINIMUM AND SEAL AS REQUIRED FOR WATER TIGHTNESS
DESIGN LOADS DESIGNATED WITHIN CONTRACT AND DRAWINGS DO NOT ALLOW FOR ANY TYPE OF »
SUSPENDED SYSTEM (E.G. LIGHTS, INSULATION, DUCT WORK. PIPING, ETC.) GREATER THAN THE ALL TEMPORARY SUPPORTS SUCH AS GUYS, BRACES, FALSEWORK, CRIBBING, WINDBRACES OR OTHER ALLOW 1/4” TOLERANCE AT EACH END FOR HEADERS AND GIRTS.
COLLATERAL LOAD SHOWN.  SUSPENSION OF ANY LOAD INDUCING SYSTEM GREATER THAN 0.5 PSF ELEMENTS REQUIRED FOR THE BUILDING ERECTION ARE TO BE DETERMINED BY AND SUPPLIED BY
IS EXPLICITLY PROHIBITED UNLESS A CORRESPONDING REDUCTION IN CERTIFIED LIVE/SNOW LOADS CAN BUILDER/CONTRACTOR.
BE PERMITTED BY CODE. BUILDING MANUFACTURER HAS MADE A COMMITMENT TO MANUFACTURE QUALITY BUILDING COMPONENTS
DESIGN AND SPECIFICATION OF BASE STEEL TO CONCRETE SLAB ANCHORING IS NOT THE RESPONSIBILITY THAT CAN BE SAFELY ERECTED. JOB SITE SAFETY INSTRUCTION, SAFETY EQUIPMENT AND CONDITIONS ARE
OF THE BUILDING MANUFACTURER. WEDGE ANCHORS SUPPLIED WITH THE BUILDING PACKAGE ARE THE RESPONSIBILITY OF THE BUILDER/CONTRACTOR.
SUITABLE FOR MOST SELF STORAGE APPLICATIONS HOWEVER, THE FINAL FOUNDATION DESIGN (DEPTH, ALL COMPONENTS SHIPPED SHALL BE THOROUGHLY INSPECTED AND ACCOUNTED FOR AT THE TIME OF
STRENGTH, MIX, ETC. ) WILL DETERMINE ACTUAL ANCHOR REQUIREMENTS. DELIVERY. ALL MATERIAL SHORTAGES OR DEFECTS MUST BE REPORTED WITHIN FIVE (5) WORKING DAYS
BUILDING MANUFACTURER ASSUMES NO RESPONSIBILITY FOR CONCRETE SLAB FOUNDATION DESIGN, OF MATERIAL DELIVERY TO THE BUILDING MANUFACTURER.
THICKNESS, MATERIALS, SITE SOIL CONDITIONS OR OTHER CONCRETE/MASONRY CONSTRUCTION. THE DIAPHRAGM SUPPORT OF THE INTERIOR PARTITION PANELS CONTRIBUTE TO THE STABILITY OF THE
BUILDING BY TRANSFERRING LATERAL LOADS TO VERTICAL RESISTING MEMBERS. ANY MODIFICATION OR
ALL STRUCTURAL CONNECTIONS ARE TO BE MADE PER FASTENING DETAILS PRESENTED HEREIN. ALL
STEEL FRAMING AND SHEETING MATERIALS MUST BE INSTALLED TO VERTICAL PLUMB AND HORIZONTALLY AFAGREED, CUTTING OF INTERIOR PARTITION. PANELS IS EXPRESSLY PROHIBITED BY THE BUILDING
LEVEL. :
THE BUILDING MANUFACTURER AND THE PROFESSIONAL ENGINEER SEALING THESE DRAWINGS ARE NOT
THE PROFESSIONAL ENGINEER OF RECORD FOR THE ENTIRE PROJECT. THE PROFESSIONAL ENGINEER'S
SEAL PERTAINS ONLY TO THE STRUCTURAL DESIGN OF THE METAL BUILDING SYSTEM. IT DOES NOT APPLY
TO THE FOUNDATION SYSTEM, MASONRY DESIGN OR ANY OTHER ASPECT OF THE PROJECT UNLESS
SPECIFICALLY STATED IN THESE DOCUMENTS.
150’—0" STEEL DIMENSION
(15) 10'=0" BAYS
@% (GU)20"'—4" (GU)20"'—4" (GU)20'—4" (GU)20°—4” (GU)20°—4” (GU)20°—4” (GU)20"'—4" (Gu)10'-2” %é\
Sl (Em10-27 (EF)10'=2" (EF)10'-2" (EF)10°-2" (EF)10°=2" (EF)10°=2" (EF)10°-2" (EF)10°-2" (EF)10°-2" (EF)10°-2" (EF)10°-2" (EF)10°-2" (EF)10°-2" (EF)10°=2" ER10-2" LIS
| | | | | | | | | | | |
>_
| | | | | | | | | | <
! ! ! ! ! ! ! ! ! ! @ /u\
. | | | | | | | | | | . 5 a
R | | | | | | | | | | 3 | o
z o | | | | | | | | | | o ol zZ
o 2 | | | | | | | | | | e -| © o
2 & | | | I A S A N N AR N S SN N U A A I SO S SN (OO A O O I U (N A (N N I (S O I N O = 1 2 B
S00> | | | | | | | | | | I 5 ~
= =S | | | | | | | | | | = =
a | | | | | | | | | | 5 —
2 ~ | | | | | | | | | | -
o 9 err-—-{--+--r-——-—-+-H-—4--+—-——"|-—3-——1——"4-F-—t+—-—]-- | | | | | | o o A ———
) | | | | | | | | | | = o | W
Hl 2 | | | | | | | | | | | & \ 2/ _
N | | | | | | | | | | ol L
o| ™ . | | | | | | | | | | . R ) S
N Tl = | | | | | | | | | | ¥ Qo 7
@) o C') I I I I I I I I I I 7 - @) N
M =1 = | | | | | | | | | | = Q ™ B
el = | | | | | | | | : : -l N
= | | | | | | | | | | AN
) | | | | | | | | | | \7
I I I I I I I I I I
| | | | | | | | | |
I | | | | | | | | | | \
o5 (EF)10'-2” (EF)10'=2" (EF)10'-2" (EF)10°=2" (EF)10°=2" (EF)10°=2" (EF)10°=2" (EF)10°=2" (EF)10°=2" (EF)10°-2" (EF)10°-2" (EF)10'=2" (EF)10'-2" (EF)10'=2" (EMNI0-2" @
\8/@ (GU)20'—4" (GU)20'—4" (GU)20'—4" (6U)20'—4" (6U)20'—4" (6U)20'—4" (6U)20'—4" (u)10'-2" ég
(15) 10°'=0" BAYS
B 150’—0" STEEL DIMENSION N
scale—-1/8" = 1-0"
PURLIN ABBREVIATIONS CLOSURE_NOTE:
(100) INSIDE CLOSURES INCLUDED FOR LOW EAVE.
(P4) — Z42516R 2 1/2 X 4 X 2 1/2 X 16GA. ZEE — ROOF PURLIN INSTALL BTR TAPE ON TOP AND BOTTOM OF INSIDE
ERECTOR NOTE: CLOSURE (SEE DETAILS AND INSTALLATION GUIDE)
A DETAILED INSTALLATION GUIDE IS AVAILABLE AND SHOULD BE (20) INSIDE CLOSURES INCLUDED FOR BASE OF
CONSULTED DURING THE ERECTION OF THIS BUILDING PACKAGE. EXTERIOR WALL PANELS.
PLEASE CONTACT US IF YOU HAVE NOT RECEIVED A COPY OF
STANDARD ABBREVIATIONS FASTENER ABBREVIATIONS THE INSTALLATION GUIDE AND ONE WILL BE PROVIDED TO YOU. (20) OUTSIDE CLOSURES INCLUDED FOR RAKE.
EROX ABoROX A D FLOOR T roomnad FEET AT el (F1) —1/2” X 2 3/4” CONC. EXPANSION ANCHOR  — BASE TO SLAB CONNECTIONS
BLDG  BUILDING GA  GAUGE RO ROUGH OPENING (F2) —-12 X 1 SELF-DRILLING TEK (PLTD) — STRUCTURAL STEEL CONNECTIONS 4” STRUCTURE ABBREVIATIONS SHEETING ABBREVIATIONS TRIM ABBREVIATIONS
Bk~ BLOCK GALV GALVANIZED SECT  SECTION (F2) —12 X 1 SELF-DRILLING TEK (PLTD) — PARTITION SHEETING ;
BOT BOTTOM GC  GENERAL CONTRACTOR SF  SQUARE FOOTAGE (F4 —12 X 2 SELF—DRILLNG TEK (PLTD)  PARTITION ANGLE GONNECTIONS (BA) — B4216Z 4 X 2 X 16GA. ANGLE — FLOOR BASE ANGLE (ML) — 29GA. M—LOC WALL PANEL (BTR)  — 7/8” ROLL MASTIC (IN) = R PANEL INSIDE CORNER TRIM
C/L gEM&gL'NE EEND SE,?IIEI ° EICII EICIIII_A/IIE (BC) — U42516Z 4 1/8 X 2 7/8 X 16GA. CHANNEL — FLOOR BASE CHANNEL (RL) — 29GA. R—LOC WALL PANEL (BT) — BASE TRIM (JA) — DOOR JAMB TRIM
CLG (F5) —12 X 1 1/4 WASHER TEK (PTD) — EXTERIOR WALL SHEETING (C4) — C4216R 4 X 2 X 16GA. CEE 4" COLUMN
CcoL COLUMN GWB  GYPSUM WALL BOARD STD  STANDARD B _ : (PL) — 29GA. PANEL—LOC WALL PANEL (CLIN) — R PANEL INSIDE FOAM CLOSURE (JC) — DOOR JAMB COVER TRIM
CONC  CONCRETE HORIZ HORIZONTAL STL  STEEL (F6) —12 X 1 1/4 WASHER ZAC (PTD)(PLTD) ROOF SHEETING (C425) — C42516R 4 X 2 1/2 X 16GA. CEE — 4" COLUMN
' (RR)  — 26GA. PBR ROOF PANEL (CLOUT) — R PANEL OUTSIDE FOAM CLOSURE (MC) — DOOR MULLION COVER TRIM
CTR CENTER HT HEIGHT TOB  TOP OF BEAM (F7) —12 X 1 1/4 WASHER TEK (PTD) — EXTERIOR TRIM DRILLER C435) — L
DBL DOUBLE INSUL INSULATION TOC  TOP OF CONCRETE ( ) — C43516R 4 X 3 1/2 X 16GA. CEE 4" COLUMN (RW) — 26GA. PBR WALL PANEL (C™m) — DOOR CORNER MULLION TRIM OCB OUTSIDE CORNER BOX
DET DETAIL INT_ INTERIOR T0S  TOP OF STEEL (F8) —12 X 7/8 WASHER TEK (PTD) — EXTERIOR WALL PANEL LAP (DH) — C4216R 4 X 2 X 16GA. CEE — DOOR HEAD : (ocB) —
DIA DIAMETER INFO  INFORMATION TOW TOP OF WALL (F9) —12 X 7/8 WASHER ZAC (PTD)(PLTD) — ROOF PANEL LAP (DJ) — C43516R 4 X 3 1/2 X 16GA. CEE —  DOOR JAMB (cL18) - %ggAéo%EFNTPR:IIE_LLOC SSR (DK) — DOWNSPOUT WITH KICK OUT (OU) — R PANEL OUTSIDE CORNER TRIM
BmG BRAAEII"“”;%N rﬂx fA%I(\mUM I\Srp IIYJFI?I%AETEEL (F10) — 12 X 7/8 WASHER TEK (PTD) — EXTERIOR TRIM LAP (EC) — U42514R 4 1/8 X 2 3/8 X 14GA. CHANNEL — EAVE CHANNEL (CL24) — 24GA. CENTRAL-LOC SSR (DSS)  — DOWNSPOUT STRAP (PB) — PEAK BOX
DR DOOR MIN  MINIMUM UNO UNLESS NOTED OTHERWISE (F11) —1/8 POP RIVET — EXTERIOR TRIM (ES) — EB4316LR 4 X 6 X 3 X 16GA. STRUT — EAVE STRUT 24" ROOF PANEL (EF) — EAVE FLASHING (REND) — RAKE TRIM END CAP
EA e TIoN MG MSCELLANEOUS R veRES (F13) =12 X 1 1/4 WASHER TEK (PTD) — INTERIOR WALL SHEETING (FC) = AS MANUFACTURED — FLOOR CLIP (FRC)  — FORMED RIDGE CAP (RT) — RAKE TRIM
EL (G) — C4216R 4 X 2 X 16GA. CEE — GIRT
EXIST  EXISTING NIC  NOT IN CONTRACT VIF  VERIFY IN FIELD (F13) =12 X 1 1/4 WASHER TEK (PTD) — INTERIOR TRIM DRILLER (GE) — GUTTER END CAP (T) - ROOF TIE IN TRIM
EXp EXPANSION NTS  NOT TO SCALE WO WITHOUT (HA) — B4216R 4 X 2 X 16GA. ANGLE — HALL TOP ANGLE
5T EXTERIOR NA NOT APPLIGABLE WT WEIGHT (F14) — 12 X 7/8 WASHER TEK (PTD) — INTERIOR WALL PANEL LAP (HR) — C4216R 4 X 2 X 16GA. CEE — DOOR HEAD REINFORCEMENT (GEOCEL) — SEALANT (TR) — ROOF STEP TRANSITION FLASHING
EIFS EXTERIOR INSULATION NO  NUMBER (F14) — 12 X 7/8 WASHER TEK (PTD)(PLTD) — INTERIOR TRIM LAP (JR) — C62514R 6 X 2 1/2 X 14GA. CEE —  RAFTER (GS) — GUTTER HANGER STRAP (UN) — FLAT RIDGE CAP
cos e Oro SYSTEM 0N R (F17) —1/4"=14 X 1" SDS W/ WASHER #1(PLTD) - "CL" CLIP/STRUCTURE CONNECTIONS (M) — C12416R 12 X 4 X 16GA. CEE — DOOR MULLION (GU)  — GUTTER (4SP) — 40Z. TOUCH UP SPRAY PAINT
FBO FURNISHED BY OTHERS OH  OPPOSITE HAND (F18) —1/4"=14 X 1 1/4” SDS ZAC W/WASHER #1E(PTD)(PLTD) — "CL” ROOF DRILLER (MC) — B5216R 5 X 2 X 2" LONG 1B6GA. ANGLE — MINI CLIP (HC) — DOOR HEAD COVER TRIM
FDN FOUNDATION OPP  OPPOSITE (F19) — 14 X 7/8" SDS ZAC W/ WASHER #4(PTD)(PLTD) — "CL” ROOF LAP (PA) — B4216R 4 X 2 X 1B6GA. ANGLE —  PARTITION ANGLE (HE) — DOOR HEAD TRIM
. FACE OF BLOGK OR BRICK RAD  RapiUs (F20) — 1/4"=14 X 1 1/4" SDS ZAC W/WASHER #1E(PTD)(PLTD) — "CL” TRIM DRILLER (RA) — B4216R 4 X 2 X 16GA. ANGLE — RAKE ANGLE (H) — HIGH EAVE TRIM
FOS FACE OF STEEL REF  REFERENCE (F21) — 14 X 7/8” SDS ZAC W/WASHER #4(PTD)(PLTD) — "CL” TRIM LAP (RS) — EB4316LR 4 X 6 X 3 X 16GA. STRUT — RIDGE STRUT

CONSTRUCTION

PRINTS

ISSUED FOR

.

CONFIDENTIAL AND PROPRIETARY INFORMATION

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

PROJECTS WITHOUT WRITTEN PERMISSION FROM THE

IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

BUILDING MANUFACTURER. THIS DOCUMENT AND ALL

S

COPIES MUST BE RETURNED UPON DEMAND.

\.

@\
© M)
| N
0@ ™~
I 4
O O O
|_|_| —_
OlI= ==
=
OO
Di N Q -~
Al |9l
> | O
(W
D) -
N O
)
o
AN
0 2
ED(\I
s28,
g%mg
O @ ®
N 35—
oo =
€03
= O o
'cs_(.r)oo
=M - .
3_039:’
mgoo
0885
°3 8
<
o
o
(4p)
(4p)

J

LDWG #22—43050—CL1

s

Sheet

N\

1

of 3




J1vd Ad 404 d3NsS! SINEA ) [ "ONVWN3A NOdN d3N¥NL3Y 39 LSNN S3Id0D 1( ¢ JO1LUD 1( 6££8-172-008 :2uoyd 1( o) 1(
TV ANV INJFANDOA SIHL "d34NLOVANNYIN ONIATING . O
ze/L/V) || 1VE NOILLONHLSNOD JHL NO¥4 NOISSINM3d NILLIMM LNOHLM SLO3rO¥d N mP) mP) h N Q Z U u_ m 2600¢ e161099) ‘ssoJoIoN s o 0@
IMIT LONYLSNOD OL d3SNn 38 LON AVA SONIMvYHd .
3SIHL "qILIAIHONd ATIOINMLS SI SNOS¥3d Q3IZIMOHLNYNN ; Z O _\_r<Q Ol_ L0Z d)NS "peoy abpug quod|oH 00EE 3 QO
0L SONIMVYA 3JS3HL 40 JFJNSOT10SIA FIHL “1I43N39 M “4—
SLI 404 @3SN 38 AINO AYW SONIMYIQ 3S3HL NI swajsAg bBuipjing ooy < ) O
@3INIVINOD NOILYWHOANI TVIINIAIANOD ANV ‘393 TINEd
‘FAILISN3S “Y3¥NLOVANNYA ONIQTING JHL 40 ALY3J0dd @ - w VA O m _\ X O m m L
JAISNTOX3 ANV F10S FHL FdV SONIMVAA FSTHL H S 2
° (@)
NOILLYWHOANI ANVIIINAOMd NV TYILNIAIANOD 1 O94M0OMd =
J \u J \u J \u J VDL J \\
NOISNIWId avis ,£—.0¢
. T
~N O
2/l 6 ~5 2/ 6
pd
T
o=
s L
, QL ,
~ - = o~
- :@l.w :@l.w
T N T a W a W
i ‘ g o S w
_ | , "mr/s 9=8(n0) _ "m_r/s 9=8(00) _
_ F/€ 9= 1my) Il [T.0-.L(ziwo) F/ 9—1 ) Il [T.0-.2(z1wo)
| W nnﬂ_n W nnﬁn
o o
_ /e 9= 1) [liS | | /e 9= ) (I | |
_ \lele lleie
_ 4/ o—aom) [|FT 4/ a—amy) [|FT
| W 0~ L(vzom) W | .0-.L(5TON)
_ F/E 9=, L(MY) W «6=.L010) 5/e 9= L(M) W 6-.L(%Q) B -
| PR |9 P (91 | .2/l 1-6
_ S/€ 99— 1Y) || /89— 1(MY) || pt w N
_ f m._u_mp < | ng, <] A -
| #/2 9-ain) |[HE RZXCOY , v/2 9-8(MY) O
| 1 = . .
||||||||| - ] - -
_ /2 9= L () W .0—.L(¥ZON) /2 9= L (W) W .0—.L(¥ZON) .2/ 8-.8(M¥) _|
_ | | <
_ F/8 9— 1 (MY) | ) /89— 1 (MY) | ) - 0L—.8(M)
M T MEH T @)
| v/g 9- () | mmw = v/g 9= () | mm, = %) v
_ “ . =& “ ‘ @2 Z Z/1 11— 8(my)
=T issiing S
_ /e omam || | /e o= [ | = o) | 2
IIIIIIIII W - .0-.L(¥2ONW) W 1 .0—.L(+ZON) N o o
|l (k4 “ e —
| IRE | | | (%)
_ H/T 9= L) | ,mw_/ [ /S 9= L) | ,m,w/ [ ) 2/L LL-8(my) — 1
=& |2 I 2
! H/8 9= 1(my) | ,H\/i\ H/8 9= 1(my) | m/ﬁ © ! 1L L
_ | | M LOL—.8(My) ﬂ G o
IIIIIIIIIIIIIIIIIIIIIIIIIII _ | .6—.,(30) _ | .6—.,(%0)
| F/€ 09— L(MY) | S/€ 90— 1(MY) | 2/1 8-.8() — |
_ (1] 7 0—.L(¥ZON) (-] 7 0—.L(¥ZTON) ‘ . R o
| b/e 9—L(M) W Rk /S 9= L(NY) W NE v/ 9-.8(My) -
_ IEEYmE=S IEEmE=S _ ) R || S o
_ F/€ 9-,L(MY) W wm\ F/€ 9-,1(MY) W m/m\ ’ . <t o
| I I 2 =
||||||||| “||||||||||||||||| o F/€ 9= 1(MY) W 0—.L(¥ZONW) F/€ 9= 1(MY) W 0—.L(¥ZONW) B - @
_ /29— L(MY) W L 7 S/€ 99—, L(MY) W I 7 «9—.8
_ i I
_ F/ 9—1 (M) W S ES = N F/ 9= 1 (M) W S ES =
xS o
| /€ 9= LIMY) | 7 0= .L(¥ZIN) O H/E 99— L(MY) | 0—.L(¥ZOW) N
IIIIIIIII _IIIIIIIIIIIIIIIII| | .6-.,(30) _| |l B——=—|.6-.£0i0) O
| F/€ 9= 1(MY) W 7 FS/€ 9= 1(MY) W 7 —
_ I S A_M | _|
n5 _ 1“ ) F/€ 91 (MY) W O < v F/8 90— 1(MY) W = ] A_M N
_ N = | =38 | =3 8
m _ m i S| /e o) | =7 S| /e o-amy) | =7 v °
ol U _____ I o| <]~ % | _ % | B
L _ L I G| /e 9-im) W 7 <0~ L(52ON) . G| /e o-aiw) W 7 0= L (r20K) 41 9
= p = ] al ~
a _ a 2 = Iy o = Iy o L
) O L k
- _ - Dl m w /8 9—1(my) | J:n_u N w /8 9—.1(my) | J:n_u _|_|_ R m M
i | 5 - o g E —|T B gz & - < I
n _ n _ = H/8 9= (M) | mm\ N I = H/8 9— (M) | m/m\ [ 8 =
o | W ) o I N ] . 3
,n_u IIIIIIIII _ IIIIIIIIIIIIIIIIII m_u < — SRR 0= L(HZON) O >~ T Aol o s vzom) <{ I~ 8
o Te} O © | P | —
10 _ — o O] Lw/e 9- (M) W 27 (Y il B 7 ) W 27 L1 ! =
4 | N S | .Jr,n_u o | ,Jr,n_u ()
_ 2 F/E 9= LMY | mm < _ /8 91 (m) | mm, <] R ~
_ =3 o =53 -
AL | E F/E 9= L (MY) W 7 0= .L(¥ZIN) | o /89— L (MY) W O—L(¥ZIN) N o
/m IIIIIIIII [ /m IS N ENAC)) » = «6=.L(3Q) o
= | = /89— 1(n) | 7 /8 9-1(my) | 7
@ _ i W Xk W K
o o
> _ >Q #/2 9= ) Ikl | | 4/2 9= ) Il | | _ e
o o H3| | T Bs| | T -
N N Ll T Ll . 13 ¢
V% _ VW J/8 9 1(MY) W mﬂ J/8 9. 1(MY) W ,H\ﬂ 3 b
O Mo ____ . _O | | . N
Q | & b/ a—1n) | «0—.L(¥TON) b/e 9—1(my) | «0—.L(¥ZOW) [ |
| W | 7 W || 7 F/€ 9-.8(MY) | O
! 4/ 9= (m) ||| /9 9-1m) |||~ | —
| e B = 1 s | |
_ F/€ 9= 1 (MY) W %m\ F/€ 9= 1(MY) W %/m\ - 0L—.8(My) “ A_M
| llm 7 .0—.L(FZON 1! .o—..(zow) % ‘ v
IIIIIIIIIIIII ._.IIIIIIIIIIIII F/ 9= L (M) W 6=.£(%a) F/2 9= L) W «6=.L(3Q) < Z/1 Li—8my) |
| | = |
_ F/2 9= (M) | L J/8 9= 1 (MY) | - 3 - s) “ 2
| = e = o | 5
_ F/€ 9= 1(MY) Hal | T S/ 9— 1 (MY) HS| T 0 - 6(M) —
| IS == » | I
| JF/8 9= (M) | JH/8 9= 1Y) | 2 B ﬂ .
I e W - .0-.L(¥ZON) W - .0—.L(¥ZOW) n_u /L o8l ,, _| 0
| B B - ~
| /89— () | 7 J/€ 9- 1 (MY) | 7 3 01— 8(my) | B
| e L RN | Lodf
_ /8 9= L (M) | ol | | < /8 9= 1 (M) | ol | | [ 2/1 s—smy) || o
| I3 =8 | | o
_ F/2 9-L(MY) W ] 7 /€ 9= 1(MY) W N 7 F/8 9-.8(MY) ,, o
] i
| 1| Sy | E—— || ==
_ /e 9= () | «0—.L(¥ZTON) H/8 9- (M) | «0—.L(¥TONW) . ? - A ¢
| I Iyl 2 S ?
_ RZAERUCORI B RZERUCORI N
_ = =g ol | | [<]
RS By st == —] —
_ F/€ 9= L(MY) W mlm F/€ 9—,L(MY) W mm\ 2/l 1—.6
! I 7 0=, L(YZON 1 .0—.L(+ZOW)
||||||||||||| T H/E 9= (m) | 6-2040) H/5 9= () | 6-2(%0)
| |
_
_ S/ 9— L (M) W I 7 S/ 9— 1 (MY) W I 7
| o o
| e = e =
| S/8 9—1(my) | 2 S/8 9—1(my) | =2
| | Hmn\ | W/u.u\
™1 1
_ _ 1 S/ 90— 1 (MY) | L0—.£(ZLND) S/ 9-1(MY) | 0—.L(ZIND)
, L w/e 9-.8(n0) Fw/8 9-8(n0)
~ o ~ : : : :
> 05 >
— V_m — ! :@l.m ! :@l.w
pd
T L
> O
=
.,n/_ Ll
N
~ L
<
2/l 6 —= 2/l 6

NOISNINWId &av1s ,£—.0¢




N\ 4 N\ ~— (
J1vd Ad dO04 d4NSSI SINIdd "ONVAN3A NOdN Q3N¥NL3Y 38 1SN S3Id0D ¢ -1¥2-008 :duo —
6€€8-1¥2-008 ud
. O
71/ g NOLLONYLSNOD TIV ANV INIANNOOA SIHL "¥3¥NLOVANNYA ONIQTING .
ce/ L/ 3HL WO¥4 NOISSINY3d NILLEM LNOHLM S103r0¥d Z2600¢ e161095) ‘SS0IION n_u O
3NN LONYLSNOD OL @3SN 38 LON AVA SONIMVA : —+
3SIHL "qILIAIHONd ATIOINMLS SI SNOS¥3d Q3IZIMOHLNYNN ; Z O _\_r<Q Ol_ L0Z d)NS "peoy abpug quod|oH 00EE 3 QO
OL SONIMYYA 3SIHL 40 F¥NSOTOSIA FHL "LI4IN3G M “—
SLI ¥04 3Sn 38 AINO AYA SONIMYHA 3SIHL NI swajsAg Buipjing odiy < O O
Q3INIVINOD NOILYWHOANI TVILNIAIINOD ANV ‘A3OTTNAING X % n_/_ C
‘AILISNIS “YIYNLOVANNYA ONIQTING IHL 40 ALYIJONd @ — @ O m _\ O m ~
JAISNTOX3 ANV F10S FHL 3dV SONIMVHA 3SIHL S ) )
. O
NOILLYWHOANI ANVIIINAOMd NV TYILNIAIANOD 1 O94M0OMd =
J \\ \. J \\ VDL .
|
Au%._m zl tz/1] _ EENETEE N\v
I
|
Auao._m zl 2/ _ [ 3do1s zi ¢ N\Fv - - -
| NOISNIANIQ 1331S ,0—.0¢ g
o
— - —~ —— - z 2
NOISNINIQ 1341S ,0—.0¢ AvEe ,0—.01 Avd ,0—.,0¢ o3
AV ,0—-0L | Avg ,0-,0C ) =
p— p— ..A
« ¢ « ¢ Ll g <<
nnOlam aaOlnm nnOlam aaOlnm nnOlam aaOlnm —mEC
Z
N N <C
- e S ‘_‘ o]t o]t i 2 .2 = 2 N 2 2 ~ 2 o v _H
:Olnm nnOlnm :Olnm nnOlnm :Olnm nnOlnm ﬂ V ﬂ ﬂ V ﬂ ﬂ V ﬂ mﬁD
= A R R - <
O N N (O N VA S K E20
N N 589 539 53 B B35 53
3_._ /€ £41(58) , /€ L= y1(08) _._3 L-8(b0) & 7~ <_r — 4( D Al - (4))
1 - =
& | 5 B/L 5800 -, | H _ , % % RGO
@D ! ) N N
. Q < a . ) > | _ | | > R
o d o Ie) _ | _ Ie)
§ B T 5 5 1 R
o ) g ) = e B , T , 5 0
R 1> 8/¢ 9-8¢0) S| F % uﬁ 1=.8/0 0-58000)
m— @ “ ﬁ X > L= 8(0) | —— = III,I_(III...."2III.JIIII" —— =7 «=8%2)
~I| _ _ L[> (8] — — N 5]
mw F/€ €-41(08) S/ee—p1(08) ! nm\ G N o) N ._., N /A GO
5 o S . > ®© wl T -} © - .
i Ie) _ - < [ < - - Ie)
R = | + — 4 - R _ T \mf \L@T.H ‘m £, \m” - T _
@) ) @) 0 ~ /\7 Iy 2 (7 N 00
= Y ¥ - z % z
= , , , IR 8/L 9-8¢0) S| , g , , , 1.8/ 9-g8cq)
— @ ﬁn > L=8(HO) e — g ——— e —— e e O it by R Al )
L _ _ A P ] 2 i ul
& /€ £-v1(08) ¥/ €= ¥1(08) & 8/L 9-8(r0) =, > = > = > s .8/L 9-8(rQ) |
= | 3 | | N . > %o | T | o] » .
< X < o) - o] 3l ey 3 ® - o
5 - o N - - 5 ! ] -3 =1 8 g ] !
= . ~ . — 0 \_u/w /\_ dAL _ehU n_u o, it \_u/w 0
o L3 =)
=1 .W 8/L 9-8(tQ) | lﬁ.olam _u 0 s uﬁ 1.8/t 9-8(ra)
A —0y @ ] ﬁm > L=8(0) pt———mm——— b R e 4 e )
~I. _ _ . 1] 2 2 0
8| /8 Emwioe) /¢ e=v1(08) g 8/L 9-8(rQ) ¢, > T > T > :, .8/, 9-8(rQ) |
2 N S R > % w| -~ ® © > R
T 5 9 [= - % 3 5 3 % - °©
,n_u = | + -4 - — ,n_u K T e o 3 W S T K
2 dAL & 2 0o X = |7 ~ = X 0o
RS - 0-G ¥ = | | 5
> YT , , B 8/L 9-8(tQ) | , [ , , .8/t 9-8(cq) |
> u@ ﬁm > L=8(H0) = — g ——— b ——— e e O E e N e
Al _ = _ = u ,1 T u
gl /e Emrie® o /e e o8) B /L 9-800) =, > ._|_ S - S T8/ =800 ]
5 ! % ,R_u ol ! 5 . - ki 0 T | o] > .
o) S A o N O T |
. 3 - i T |
o & ! o 0 ~ L p 1S S ~ -
~— - ~ - — ~ _ | —~ 00
N % : o | ;
> 1S 8/L 9-8(r) =| P I3 uﬁ 1=.8/0 o-8(q) |
> @ : ﬁ e L=8(0) o —mm——— - ——m——— oS- —— g —— =i Lm8(0)
~|L _ _ Lf| —~ (8] U' U| 8]
8 b/ £-v1(08) F/¢'e=v1(08) ! 3 /2 =300, N ._|_ N = N /A GO
2 © 2 - y R_u ,8_ - © © W -
? ; 2 o L T A : o
I [e)] I I —~ —~ ~—
. - f - 1 — T — - f - _ 4_| — &t — ul\ T<F } — 4W — | _
E " g " © o | e 5 o
J X S |2 | e
| , , , 1w 8/L 9-8(ra) ~|_ , 1S , , .8/, 9-8(ra)
> u@ ﬁm >t L=8(0) o —mg——— - ——mo—— S =g = «£Lm8(0)
~|L _ _ f| —~ (8] U' U| 8]
gl| /e Emwioe) /2 e=v1(08) 8 8/ 9-8(rQ) ¢, > = =T > s, 8/, 9-8(rQ) |
x ! 2 ! ! 2 > o | - w0 ®| > N
S © s 2 M | ~ | Q | he) 2
= i} = e = - B 3 s 3 2 - ° <C
- - - ~ s - - - T - Y - L < D § - T
=z 2 g 2 =z A_M © =z [ \F/ @, _ﬂ_ = me W/ [ z
O X N O | O =) 12 g o 2
G| ., S 15 5 _ o 8/L 9-8(rQ) =| P 3 uﬁ 1=.8/0 o-8(q) | = N | °
gl = sl “ 9 L & zl L L=8(b0) i —mT—— TR AT T Er T WLm8(0) L N
S SP /e e-mitom) /2 e-p1(08) Ui < S I dl < 2 N = N - N . <| Y —
S| o 8 “ . “ : 8 s = S| o 8/, 9-8(r0) 5, = ._|_ > T > . .8/L9-800) | m| =
) - - N . . ) s ) . ~ 0 - - - 0 ~ . ) I
i . ol S A g (. - g o - O
o o _ o| o o . ~ I < . o
| - | / 1 (@) — 00 Le)) 0 — (@] — -
L _ _ -t —a - + -4 - — _ [ L — L [ - - - 2L 1 2 - - - _ L 3
Wl o o < Y L] i Wl - ! | ) = 3 3 ! Jo- L] 0
= S © [ [ © 00 N ~ T ~ =~ N o| © — N ™~
n|l - — . NS - 5, —| - %) O _ n| - T It | T — n —
| B WJ , N , , ﬂw ol % o | @ 8/t 9-.8(ra) ~| , _\% , , o B/Le=80q Y 5l s M |
- >—0 e — — — L=8(#0) H———mf————p———m——————— =i ——— .- =
% = o v/ £-#1(09) v/¢|e~¥1(08) L ~ 5 O 5 ~ ) - N - Q 4 N i 5o = . (0
o 8 “ ‘ “ ‘ @ o o o 8/L 9-.8(ra) = = <! > - > s, 8/, 9-8(ra) | o
Te) - ~ e} |_ 0 « ¢ M o .._ _ | .._ 5 “ o) _
— 2 I © I I H — O — - M P! © T o _ I ™) - —
o | o o - 0 3 g 3 % - o (Y| °
:_ — — “ — —+ — — .._ _l_l ) )_ ‘_I _ \M.” _ L_‘((uh"uml\ \,m S _ \N..” _ ‘_I )_ o
1 R 8/ 9-8(q) ©|. F I3 uﬁ 1.8/t 0-g8(cq)
S @ : ﬁ e L=8(10)  p—— - |||,|_(|||+"2|||,JIIII"2 ———1 «-8(0)
—~ | L) —~ (8] — — 8]
8[| «/c v olo /€ - F108) e «8/L 9-8(rQ) 5, > <l > - > 5, .8/L 9-8(r0) |
2 N 3 . > ®© EY N w © > R
< X | = ° - o o B < . - -
N S T - - — | _ = B P S - B - _
2 g © © N <i 7 < < N 0
“ v z o z
=1 , , , 1w 8/ 9-8(q) ©|. , ISy | , , 1.8/t 9-80@) |
>t u@ ? > L=8(0) - —m——— - —— oS — T —( «Lm8(0)
—~ | L) —~ (8] — — 8]
B F/8 £=41(08) ¥/ €= ¥1(08) 8 8/L 9-8(r0) =, > = IS = > :.8/L 9-8(rQ) |
2 | | i | | N R » | | ﬂ_._u | o] = R
o L] (@) :O _ - o . i~ ) " :O
| ﬂ5 e B |- R 3@ | i T s cﬁ R+ il el B AT i
S S o 0 N < | 2/ < N S
S R z N z
N N - 7 S = -
o 1 8/L 9-8(rQ) =| F ﬁ _ uﬁ 1=.8/0 o-8(q) |
= & L=8H0) e —m e oo I T T T T WLm8(0)
—~ | L —~ (8] — — 8]
g |p/e £-y1(08) F/€'e=¥1(08) ! 8 8/L 9-8(r0) =, N 1_, S = > . .8/L 9-8(rQ) |
: o : ” » U R . ¢ » ”
T I | T < L - W N W I = <
- T T I~ T T - . | Sl f < T <! | .
© &) o 0 N < i 2l e ) %0
Y v z $ z
ol | | | | 1w 8/t 9-8(rq) ~| , , m\_ , , 1~.8/0 9-8(r0) |
> u@ ﬁm > L=8H0) e m e T TR T T AT T TR T T WLm8(0)
—~ | L[ —~ (8] — — 8]
8 F/€ €= ¥1(08) F/€ €= ¥1(08) 8 8/L 9-8(r0) =, N = s = > :.8/L 9-8(rQ) |
2 | | i | | N R » | | ﬂ_._u 'y o] = R
@) I o Ie) © < —l= < % ©
_ - - - o> - - _ - B3 o ) - -
= & o o ] 5 | nE ) ; .
= . & . © ) N = | 2l™ = X )
“ > o S a
B 1% 8/ 9-8(q) ©|. F ﬁ < uﬁ 1=.8/0 o-8(q) |
>—=3 @ ? > L=8(0) —— _"2|||,J||||.2 ———r «£-8(0)
—~ | L[ —~ (8] — — 8]
8 /g €= (08) F/81e=p1(08) 8 8/L 9-8(r0) =, N ._L > = N . .8/L 9-80rQ) |
- 3 - ~ © < N - © 0 ~
= © p S M I X XN | =~ I M S
(@) | (@] o 0 < —- < - - @)
_ -— - - 2 - 4 - — _ - - o - > 2 SR -
o < o | | S 13 3 J !
© , S, , © 00 N (» dAL » ooz~ = N 00
“ ' 3 Rty g 4
2 , , , , i 8/L 9-8(0Q) ~| | .0—G | of , , 1.8/t 9-8(r)
“—=2 i a— L=8W0) e ——— ot ——— | +"2||I,J||||"2 —— =t L-8(0)
| L~ @) 2 2 u
8 F/€ €= 1(08) F/€ €= 71(08) g 8/L 9-8(r0) =, D L s = > < 8/ 9-8(ra) |
N | | " | | N N » © | q| = Wl o > R
o R o o) 1 - 0 = < ] B
| - - - w/mm‘\ - N _ i - \M/ - CW - ‘_A_VM = - \%W - T _
o o 1 ; e 418 e ; %
= % = | m@ Y - ® £ | | m_ | | 2 00
- ) 8/L 9-8(rQ) ~ < € 8/t 9-8(ra) |
4 ~ 1 - ; 4 o
= = T = - . . = =+ = = . - - L= 8D
5 F/ L=v1(08) b/ L+.71(08) 3 «L=8(¥0) v b b thRE BT ONW W (r9)
~ ~ - - - R — - - —
[L9] 00
Y ogroor e Tyl
Xor X TX a2 X T X2 -
g 3 g g3 g g3 ¢
SAvg ,0-.GL (2)

NOISN3IWIQ 1331S ,0—.0¢

SAvE .0—.GL (2)

NOISNIWNIQ 1331S ,0—.0¢




7 N
N
Ni=
<C
>0
<|>
150’=0" STEEL DIMENSION m| @
(15) 10°=0" BAYS
o
@)
% L
(6 ) (7 ) S (7 ) (6 ) =19
(L5 5 J 2 5 5 O35
NG 8070 8070 8070 8070 -~ 8070 8070 8070 8070 8070 8070 ~ 8070 8070 8070 8070 8070 - 21
(I:ﬂ\\ C jal C jul C I:/ ﬂ(‘ C al C jal C jal C jal C jul I:/ ﬂ(\ C jal C jal C C jul IIE ﬂ< D: (f)
- PA)8’—5" PA)8’—5" PA)8’—5" “PA)8 -5 PA)8’—5" PA)8’—5" PA)8’—5" PA)8’-5" PA)8'-5" {PA)R-5” (PA)8’-5" (PA)8’-5" (PA)8’-5" (PA)8’-5" ' > /\ ; -
3 o Z|o
S Q=
L i i i i i i i i i i i i i i i 3 | O|l=
(1 B 7 o o
14 - N a
5 =, (L6 jEiI 5 o & -
%) ” N, (3)(ML)9’—10” (3)(ML)9'—10" (3)(ML)9’—10" (3)(ML)9’—10" (3)(ML)9’—10” @G)M9'=10" 1+ /(3)(ML)9’~10" (3)(ML)9’—10” (3)(ML)9’—10" E)M)'-6" ¢ %) ~ \ /
E Z(- 8 i ’ ’ | i IL v ‘(PA)8’'—10" ‘(PA)8’—10" (PA)8’—10" "(PA)8'—10" ‘(PA)8’—10" “(PA)8' 10 "(PA)8’—10" "(PA)8'—10" "(PA)8'—10"|(PA)8’ - 10" (PA)8'— 10 |V E E d — - o )
ol - E | wEe <Z( 2 o T YUr 2
) Teae-0 1/2° PR-0 1/7T{  (PRg'=0 1/2] (PA)9'-0 1/2] (PA'-0 1/27 4 4 4 4 4 4 4 J d d - - = %QE;m'j;od
ﬂ | N (3)(ML)9’-6" 3HM’-10" Y7 (3)ML)9’-10” (3)(ML)9’=10" (3)ML9'=10" A H X | 36 89 24 COZ%
= 0 73 — | E O | o OksEeEsE<S
Ol s (6 < v — L | XdzpaxDxm
|~ (6 D " Z | SBEGETLzE0
ol o " ] J ] (I J J J J J (A J J J J ) 2 fe) S} s> | 2T E823Z
| N2 A NS \A\ ~K C|3 | d tr <2§u8&0988
-~ £ £ £ £ 2 2 2 £ 2 1 £ £ £ £ -~ < m >_ :)
3 (9 7 i 7 7 i i i i i i 7 7 7 i 9 o 3 o C|g58 FdeES
(_6 Q Q 2 &l (L6 J Q Q Q 2 Q &l e ) 3 Q 2 3 (_6 N - T | PE53ugaaoy
= 5 = 5 = 5 5 5 5 5 = = = = = 50FW_T&
i 2 = 2 Z Z 2 = = = S = = = = A N % = o= w8 a3
~~ ~~ ~~ ~~ ~~ ~~ ~~ ~~ ~~ ~~ ~~ ~~ ~~ ~~ -~ '— M
L PA)8’'—5" PA)8’'—5" PA)8’'—5" _ken)s' -5 PA)8’'—5" PA)8’'—5" PA)8’'—5" PA)8’—5" 6 PA)8’—5" _ken)s' -5 (PA)8’—5" (PA)8’—5" (PA)8’—5" (PA)8’-5" _ A | <SE@S 2_= =
By g ey ey ey ey ey ey ey e e e\ = mm%%ogggom
o 8070 8070 8070 8070 =K 8070 8070 8070 8070 8070 8070 =K 8070 8070 8070 8070 8070 A < | QuosZ . =
(6] 5 o | EFoELtEE23
= [ 855,58, 30
(15) 10°=0" BAYS O | ixBFu2550
% Ea §I =z ] Ex 8 )
O Py ©xCom
) 7] (&) oo %
150'—0" STEEL DIMENSION - J
scale—-—1/8" = 1-0"
o QN
O <8
] =9
—|O|=|=
B 150’—0" STEEL DIMENSION - O LO) <I:
15) 10'—0" BAYS — | O °
) (19) _ s dEe
o
Al s | S
et
(EC)19'=11 7/8" (EC)19'=11 7/8" (EC)19'=11 7/8" (EC)19'=11 7/8" (EC)19'=11 7/8" (EC)19'=11 7/8" (EC)19'=11 7/8" (EC)9’—11 7/8" O _
| f — f — f —t f f f f f — f —
| | | | | | | | | | | | | | m O
| I I I I I I I I I I I I I /Lu\ m
ol | o | e | ol | ol | ol | ol | ' an
. (P4)20'-8 . (P4)20°'-8" e (P4)20'-8", e (P4)20'-8) e (P4)20'-8) e (P4)20'-8) e (P4)20'-8) o (PH10-8 : §
e | I I I I | | | | | | | | I o n
= o | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP | | PURLIN LAP || = ~
o = | | | | | | | | | | | | | | = o =
%) 3 (P4)20'—8] | / (P4)20'-8 | / (P4)20'-81 | / (P4)20'-8 | / (P4)20'-8' | / (P4)20'-81 | / (P4)20'-8" | (P4)10'-8" 3 %) N
. ) | | | | | | | | | | | | | | —— -
= | | | &Y | | | = a
o I77 | | | | | | | | | | | | | | I77 o
ZJ e | e | g | gl | gl | gl | gl | 7J
P4)20'-8 P4)20'-8 P4)20'-8 P4)20'-8 P4)20'-8 P4)20'-8 P4)20'-8 P4)10'-8
n (P4)20 8, == (P20 8, == (P4)208, == (P4)208, == (P4)208, == (P4)208, == (P4)20-8, = (Y o ———
H | | | | | | I | | | | | | | H \ J
% | | | | (20) | (22) | | | | | | | (20) | (22) | % -
5 (P4)20'—8’1I I (P4)20'—8"I I 7 (P4)2o'—a'1I 7 I (P4)20'—8']I I (P4)20'—8']I I (P4)20'—8']I I 7 (P4)20'—8']I / I (P4)10'-8" 5 L S
| ) | I | I | | | | | | | | | | £ | S N
[=) S | | | | | | | | | | | | | | S ° % P
M = | | | L7 J 1 7 ) | | | | | | | L7 J 1 7 J | | = M o n =
2 P4)20'—81 I P4)20'—81 I P4)20'—81 I P4)20'-8" I P4)20'-8" I P4)20'-81 I P4)20'-8" I P4)10'-8" 2 . S N
(P4 i == (%) i == () i == () i == () i == (P4) i == (P4) i == (P4 = ~ g n 8
| | | | | | | | | | | | | I > -5 »
| | | | | | | | | | | | | | \/ R
| | | | | | | | | | | | | | N QO g ®
I | —— | —— | —— | — | ' | —— | — (7p) Q:E5;
(EC)19'=11 7/8” (EC)19'=11 7/8” (EC)19'=11 7/8” (EC)19'-11 7/8" 76 (EC)19'=11 7/8" (EC)19'=11 7/8” (EC)19'-11 7/8" (EC)9’-11 7/8" oD o5 N
) 2883
S50
— m - w
’ _ ” : Q g GCJ
(15) 10°=0" BAYS mESs
QO OR
150’—0" STEEL DIMENSION 8 L5
< T
o
~O0OF PLAN 5
(ap)
(99
scale—1/8" = 1-0" \ J

LDWG #22—43050—CL1

s

Sheet

N\

J

4 of o

N\




| SLAB DIM.
T o
11/27 | STEEL DIM.
i P
9 1/2”
T
|
A Y A
= I
I .
(@)
z| . [ T
= EV L
A I <
ol = [ o
§ I
' | P E—
7 o 4 %
g

N
N

// \//
/\\//

SA

Ap

DOOR EDGE SLAB NOTCH

—\

9 1/2” X 1

STEEL DIM. STEEL DIM.

(C) COLUMN

(BC) BASE CHANNEL —

(F2) #12 X 1”7 SD
(4) PER COLUMN\

(PL)
PARTITION
PANEL

(F1) CONC. ANCHOR _/

6" FROM EACH END
AND 36" O.C.

1/27 NOTCH

EAVE HT.

COLUMN FLOOR BASE CHANNEL

o

SLAB DIM.
_—
/2" | STEEL DIM.
] o
\ J A
(MC) MULLION ——=—
0 LLION - (DJ) DOOR JAMB |
i = ) T
N .
SIS (F2) #12 X 1”7 SD — N <
x| T (4) PER COLUMN ~ n
S -
[
(BC) BASE ! ___l%r.
! CHANNEL | o7

(RW) WALL PANEL —+

(BA) BASE ANGLE —

(F2) #12 X 1” SD

ﬁ SLAB DIM.
S
1/27 | STEEL DIM.
— ] —
ke |
: <J|r— (C) COLUMN
| | o
| | T
L N N
| | ~ <>E
| | T L
L -
| |

11/7/22

DATE

v

Ad

B

BY

(2) PER COLUMN
(CLIN) INSIDE CLOSURE

NA

! 1 Aqbf.l-_.

SLAB DIM.
ﬂ —
1 1/27 s STEEL DIM. _
V A
1
[l |
“ [ :
o~ 1 L
= ol 3
- ]
' ] 1 .
L [ I T
- .
) 44 AA%
IN L
/<// - S
§>/\\44<4 -
— J
2 WALL EDGE SLAB NOTCH
1 1/2” X 1 1/2” NOTCH
PANEL

ROLL—UP DOOR ABOVE

(C) COLUMN

(F2) #12 X 1”7 SD —

CONC. STEP BELOW \

AN

BASE ANGLE BELOW
N/

(F7) #12 X 1 1/4” SD

24" 0.C.

=
=
_—
=
>
—
—

STEEL DIM.

SLAB EDGE BELOU

(CM) CORNER
MULLION COVER
(DJ) DOOR JAMB

D.O0. WIDTH

STEEL DIM.

,I’_O”

(F1) CONC. ANCHOR —
(2) PER (BC)

DOOR EDGE BASE

5

(ML) PARTITION PANEL
ROLL—UP DOOR ABOVE
(PA) PARTITION ANGLE
N \

ROLL—UP DOOR ABOVE ‘

I\— (OU) OUTSIDE

CORNER TRIM
(F7) #12 X 1 1/4” SD
| 24” 0.C.
12”7 CORNER

DOOR JAMB —
0

(F2) #12 X 17 SD =
[
\ 2
CONC. STEP BELOW ) b
a1 T e |_
; | | ; D)
© ©
SLAB EDGE BELOW "
(C) [cOLUMN 24" OC.
(DJ) DOOR JAMB (MC) MULLION COVER
D.O. WIDTH 1’=0" 1’=0" D.O. WIDTH
—g} — Tl Tl —
STEEL DIM. STEEL DIM.
—g} il —

ERECTOR NOTE:
BASE CHANNEL IS 1/4" SHORTER THAN MULLION.
CENTER BASE CHANNEL ON CENTERLINE OF BAY.

7

24”7 DOOR MULLION

(F1) CONC. ANCHOR —
6” FROM EACH END ~
AND 36" O.C.

WALL EDGE BASE ANGLE

4

(PA) PARTITION ANGLE
\ .

; BASE ANGLE BELOW

SLAB EDGE BELOW

STEEL DIM.

Wl

(ML) PARTITION PANEL/

(F2) #12 X 1”7 SD

(C) COLUMN —

STEEL

N

DIM.

O
O
—

STEEL DIM.

!

\— (RW) WALL PANEL

WALL WITH PARTITION

3

CONSTRUCTION
PRINTS ISSUED FOR

\.

CONFIDENTIAL AND PROPRIETARY INFORMATION

THESE DRAWINGS ARE THE SOLE AND EXCLUSIVE
PROPERTY OF THE BUILDING MANUFACTURER, SENSITIVE,
PRIVILEGED, AND CONFIDENTIAL INFORMATION CONTAINED

BENEFIT. THE DISCLOSURE OF THESE DRAWINGS TO
UNAUTHORIZED PERSONS IS STRICTLY PROHIBITED. THESE

DRAWINGS MAY NOT BE USED TO CONSTRUCT LIKE

PROJECTS WITHOUT WRITTEN PERMISSION FROM THE

IN THESE DRAWINGS MAY ONLY BE USED FOR ITS

BUILDING MANUFACTURER. THIS DOCUMENT AND ALL

COPIES MUST BE RETURNED UPON DEMAND.

7

PROJECT:

50 X

150 x 8—0

LOCATION:

NC 27552

Sanford,

.

Arco Building Systems
3300 Holcomb Bridge Road. Suite 201
Norcross, Georgia 30092

Phone: 800-241-8339

J

DWG #22—43050—CL1

s

Sheet

~

o of 3




STEEL DIM.

(C) COLUMN \

(RW) WALL PANEL

A

STEEL DIM.

BASE ANGLE BELOW
SLAB EDGE BELOW

N/

— @@)

STEEL DIM.

WALL
9

STEEL DIM.

e}

STEEL DIM.

T— e T—

STEEL DIM.

(ML)
PARTITION
PANEL

(ML)
' PARTITION
PANEL

(C) COLUMN

STEEL DIM.

(F2) #12 X 17 SD

PARTITION TEE

13

STEEL DIM.

—}

STEEL DIM.

STEEL DIM.

] —

i}

STEEL DIM.

COLUMN

(F2) #12 X 1”7 SD

\\:(c) COLUMN
| (ML) PARTITION PANEL

CLIP

STEEL DIM.

14

—— (RW) WALL PANEL

(F2) #12 X 1”7 SD
/ (4) PER LOCATION

A = (G) GIRT
S|w
é§ < \ (MC) MINI—CLIP
% §r|/ —— (C) COLUMN
!
TYPICAL GIRT

STEEL DIM.

{7

[T

il
. (ML) PARTITION PANEL
|/ (F4) #12 X 27 SD

(F2) #12 X 17 SD
///i(PA) PARTITION ANGLE

STEEL DIM.
=}
I
=
)
R
L] (C) COLUMN
5 ‘“\
= _//
& (ML)
d PARTITION
L PANEL
F__
(0]
'

\(ML) PARTITION PANEL

PARTITION CROSSING

17

(RW) WALL PANEL — =

(F2) #12 X 17 SD ——
(2) PER LOCATION

(HE) HEAD TRIM ——=

DOOR OPENING HEIGHT

\

FASTEN HEAD TRIM W/
(2) (F7) PER PIECE
FASTEN 'WALL PANEL

AT 127 0.C.

(F7) #12 X 1 1/4” SD ——
(2) PER LOCATION @ CLIP
FASTEN TRIM AT 24” 0O.C.

STEEL DIM.

="
—~ -
i -

0

[
o=z )

Rt
[N G R G A R W A
\ 1\ " \

VT

— (MC) MINI=CLIP
— (DH) DOOR HEAD

— (HC) HEAD COVER

—<—— (DJ) DOOR JAMB

S

DOOR HEAD

19

- \
I \
- Py | \
- 7N
" ///‘ N\ ! \
) etl———— J—
i W S !
——Z=- N | !
| !
I /

STEEL DIM.

—~t} | ]

STEEL DIM.

STEEL DIM.

—

(C) COLUMN

STEEL DIM.

PARTITION

(F4) #12 X 2” SD

(PA) PARTITION ANGLE

ZD

TEE

(ML) PARTITION PANEL

(F2) #12 X 1”7 SD
(ML) PARTITION PANEL

STEEL DIM

CONTINUOUS MASTIC
AT TOP AND BOTTOM
OF INSIDE CLOSURE

(CLIN) CLOSURE

(F6) #12 X 1 1/4” ZAC
(EC) EAVE CHANNEL
(RR) ROOF PANEL

(F2) #12 X 1” SD—/

(F7) #12 X 1 1/4” SD ——
(2) PER EAVE TRIM |
|

MINI—CLIP AT (EC) SPLICE ——
IF REQUIRED

(C) COLUMN

DETAIL AT CLOSURE

PITCHED EAVE CHANNEL WILL
HAVE A SMALL PUNCH AT EACH
END TO INDICATE LOW SIDE.

3 1/2"

—— (F10) #12 X 7/8" SD

(BTR) CONT. MASTIC
TOP AND BOTTOM
OF FOAM CLOSURE

—— (GS) GUTTER STRAP
3 0.C.

B\ @.o.s.
)\ (GU) GUTTER

(EF) EAVE TRIM

(RW) WALL PANEL
(DK) DOWNSPOUT

LOW EAVE WITH GUTTER

10

' N
N
(|
N
<
5
<[>
m |
o
O
Z | L
A
('3 L
S D)
r w
=Y
D )]
5=
O£
o
[l
\ .
r " ~
Z e
L
© >4y o&uuq
K| Y528FEXEES
= [ | .
= | 85285, 502
X | 2n32ZH060%%
C |SwonZopiog
=z uuoamfhzzg
~ | oEEnoo25Y
> ZE<DMIOE§Z
<62 00038
x zxlil, 235
< E%EmEﬁEEQ
L SEZEmQQEQB
% MEJ%O&M TZ
< nnzk-
©) EOE)-E DE .2
& |wEE33%ushe
a <§Em32hgau
> | pn@3802000™
Z |8, 8£02Zz233
= = ) o OLw
ST _<-W>xT>OH
— BH%IMQEEZE
< §m<DIQ =g
E |86 .wFup,=9
zZ on, NBLD Y
Ll wrplErzo=z0a
/) n OIbLo=zw=90
= LESDFLUY=S500
i T 0
L ITa- Z|_§O_
pd Pozzﬁsoga
O o4 =S
&) oa 5
\. W,
s N
X —~
8 —~ QZ
=9 -
() T -
X O
94—
O -
\ .
4 N
—
O
N
n 2
€3S
Qo
3388
> 0 0o
O @®
w Df e T
O«
O o o N
COopo
5268
=90 g5
S O o c
(1] gszg
08821
e E
o
O
(ap)
(a9

. v

DWG #22-43050—-CL1

' N

Sheet

o of 3




(RA) RAKE ANGLE

STEEL DIM

(F9) #12 X 7/8” ZAK
12" 0.C.

(BTR) CONT. MASTIC
(RRX) ROOF PANEL

T.O.S;é

(RT) RAKE TRIM

(F10) #12 X 7/8” SD
12” 0.C.

\— (P4) 4” PURLIN

(F2) #12 X 1”7 SD

(CLOUT) CLOSURE (C) COLUMN
(RW) WALL PANEL ——=t
17 RAKE — 47 PURLIN
_ STEEL DIM__|  STEEL DM
(RRX) ROOF PANEL
T.0.S. N N AN
LR
£y .
(P4) 4” PURLINJ o
(F2) #12 X 1”7 SD —— I l
(C) COLUMN —— |
|
|

4” PURLIN SIDE

2

STEEL DIM

el

STEEL DIM

(FB) #12 X 1 1/4” ZAC

T— e T—

/ (RRX) ROOF PANEL

T.O.S;é - B
(P4) 4” PURLIN —=

(F2) #12 X 1”7 SD

<+—— (C) COLUMN

RIDGE — 4”7 PURLIN
13
_ STEEL DM _|  STEEL DIM
(F8) #12 X 1 1/4” ZAC
(RRX) ROOF PANEL

T.o.s.qb L — 5

(P4) 4” PURLINj

(F2) #12 X 1”7 SD

—+—— (C) COLUMN

4” PURLIN SECTION

27

STEEL DIM STEEL DIM
<—8” LA RRX) ROOF PANEL
(MIN) (RRX)
|
T.0.S. N I /\L
_____ N ’||T=:_______
/ ﬂ{ Al \

(P4) 47 PURLIN/ :
(F2) #12 X 17 SD— ||
(C) COLUMN ———

\— (P4) 4” PURLIN

4” PURLIN LAP SIDE

19

STEEL DIM. STEEL DIM.
—} el —
|
J A
(C) COLUMN — '
(PL) =
(F2) #12 X 17 SD — PANEL <>E
(2) PER COLUMN -
_ lgs _'_Aéfl-_
< g A
C> 4 ) 2 . ) i b4l ) A%

(F1) CONC. ANCHOR —/

6" FROM EACH END
AND 36" O.C.

COLUMN FLOOR BASE ANGLE

25

STEEL DIM

=}

|t —

STEEL DIM

(F6) #12 X 1 1/4” ZAC
/ /—(RRX) ROOF PANEL

7

T.O.S;é T

(P4) 4” PURLIN
(P4) 4” PURLIN

(F2) #12 X 17 SD

<—— (C) COLUMN

4” PURLIN LAP SECTION

20

' N
N
(|
N
<
5
<[>
m |
o
O
Z | L
A
('3 L
S D)
r w
=Y
D )]
5=
O£
o
[l
\ .
r " ~
Z e
L
© >4y o&uuq
K| Y528FEXEES
= [ | .
= | 85285, 502
X | 2n32ZH060%%
C |SwonZopiog
=z uuoamfhzzg
~ | oEEnoo25Y
> ZE<DMIOE§Z
<62 00038
x zxlil, 235
< E%EmEﬁEEQ
L SEZEmQQEQB
% MEJ%O&M TZ
< nnzk-
©) EOE)-E DE .2
& |wEE33%ushe
a <§Em32hgau
> | pn@3802000™
Z |8, 8£02Zz233
= ;Dn: OLw
ST _<-W>xT>OH
— BH%IMQEEZE
< §m<DIQ =g
E |86 .wFup,=9
zZ on, NBLD Y
Ll wrplErzo=z0a
/) n OIbLo=zw=90
= LESDFLUY=S500
i T 0
L ITa- Z|_§O_
pd Pozzﬁsoga
O o4 =S
&) oa 5
\. W,
s N
X —~
8 —~ QZ
=9 -
() T -
X O
94—
O -
\ .
4 N
—
O
N
n 2
€3S
Qo
3388
> 0 0o
O @®
w Df e T
O«
O o o N
COopo
5268
=90 g5
S O o c
(1] gszg
08821
e E
o
O
(ap)
(a9

\.

v

DWG #22-43050—-CL1

Sheet

N\

/ of 3




3’—0" COVERAGE

(BTR) CONT. MASTIC
@ PANEL LAP

R—PANEL ROOF

FAVE AND RIDGE FASTENING

3’—0" COVERAGE

(BTR) CONT. MASTIC >|< >|<
@ PANEL LAPﬂ\\\\éﬁﬁ\fJﬂ
/_\_%4‘ /_\_%4‘

R—PANEL ROOF
PURLIN FASTENING

(F9) #12 X 7/8” WASHER ZAC
20" 0.C. MAX

(F6) #12 X 1 1/4” WASHER ZAC
(6) PER EAVE/RIDGE — PER SHEET

INTERIOR

ROOF PANEL LAP DETAIL

\ VIEW AT LOW EAVE /

(F9) #12 X 7/8” WASHER ZAC
20” 0.C. MAX

(F6) #12 X 1 1/4” WASHER ZAC
(3) PER PURLIN — PER SHEET

(F8) #12 X 7/8" WASHER TEKY >|< >|<

20" 0.C. MAX

(F8) #12 X 7/8" WASHER TEK;Y >L »L

20" 0.C. MAX

ERECTOR NOTE:

PARTITION PANELS HAVE BEEN
SUPPLIED TO THE APPROXIMATE
ROOF LINE. NOTCH TOP
PARTITION PANEL TO MATCH
ROOF LINE AND CLEAR PURLIN
LEG AS NEEDED TO CLOSE IN
THE UNIT. PARTITION PANELS
MAY BE BACK LAPPED TO

INTERIOR

\ CLEAR PURLINS.

PANEL LAP DETAIL

L 3'—0" COVERAGE

R—PANEL WALL
FAVE AND BASE FASTENING

(F5) #12 X 1 1/4” WASHER TEK
(3) PER GIRT — PER SHEET

L 3'—0" COVERAGE

R—PANEL WALL
GIRT AND DOOR HEAD FASTENING

(F5) #12 X 1 1/4” WASHER TEK

VARIES

CONT.

- COLUMN
Y
i (
- (F2) #12 X 17
( SD TEK (PLTD)
(4) PER COLUMN
PER SHEET

3'—0" COVERAGE
1 ,_O”

O
_¥___ AR
* 3 o'o.

(3) PER GIRT — PER SHEET

9

- ¢

J— ) -.Q 4
Y (

"

M—LOC PARTITION
SHEET FASTENING LAYOUT

' N
S
(|
N
<
5
<[>
m |
o
O
Z | L
A
('3 L
S D)
r w
=Y
D )]
5=
O£
o
[l
\ .
r " ~
Z e
L
© >4y o&uuq
K| Y528FEXEES
= [ | .
= | 85285, 502
X | 2n32ZH060%%
C |SwonZopiog
=z uuoamfhzzg
~ | oEEnoo25Y
> ZE<DMIOE§Z
<62 00038
x zxlil, 235
< E%EmEﬁEEQ
L SEZEmQQEQB
% MEJ%O&M TZ
< nnzk-
©) EOE)-E DE .2
& |wEE33%ushe
a <§Em32hgau
> | pn@3802000™
Z |8, 8£02Zz233
= ;Dn: OLw
ST _<-W>xT>OH
— BH%IMQEEZE
< §m<DIQ =g
E |86 .wFup,=9
zZ on, NBLD Y
Ll wrplErzo=z0a
/) n OIbLo=zw=90
= LESDFLUY=S500
i T 0
L ITa- Z|_§O_
pd Pozzﬁsoga
O o4 =S
&) oa 5
\. W,
s N
X —~
Ej —~ é%
=9 -
() T -
X O
94—
O -
\ .
4 N
—
O
N
n 2
€3S
Qo
3388
> 0 0o
O @®
w Df e T
O«
O o o N
COopo
5268
=90 g5
S O o c
(1] gszg
08821
e E
o
O
(ap)
(a9

\.

v

DWG #22-43050—-CL1

7

Sheet

N\

3 of O3




